FTE 1 3d—Fk
BONDS Blew BRES RS B B | BERR|IE 7
BONDS X O O 2 -1 6 | 2
5 — 1111 — 511 = 5
Blew Wave O O O 3 — 0] 283 7
11 — 5 11 — 11 — 5
BERES X X X O—-3|24| 4
5 — 11 - 11 4 - 11
BRSIY X X O -2 5| 3
5 — 1115 — 11|11 — 4

X REBADIBLDRIES. BHH — BEXTR — SRR CTREI D,




= 2 Jd—F
PR R FWS MAC RP—2Z B B4 == -Wy}

PIRA R X X O 1-2| 5|3

S =117 - 11|11 — 8

FWS O O O 33— 0| 11 7
11 -7 11 - 811 -7

M A C O X O 2 -1 9 | 2
11 - 718 — 11 11— 3

RP—2 X X X O—-3|-15| 4
8 — 117 — 113 — 11

X REBADIBLDRIES. BHH — BEXTR — SRR CTREI D,




PE 3 J—F

D4 T2 Al POCKET AT S B | Bk B (7
4 T2 X O O 2 — 1| O 2
2 — 1111 = 10|11 — 3
All Blacks O O O 3-0| 16| 7
11 - 2 11 - 8|11 — 7
POCKET >< >< O 1 — 2 7 3
10 -1118 — 11 11 -
X X X

RE A O—3|23| 4
3 — 117 - 11 - 11




